Time (s)

Distance (km)
3 4 o

1.5+

2.9

EES=N==2) ERSNNNE=SgpuNguN e P T F = - Eimg__ =T | L35 s=3f==an! S===c=—=mmEEe:
e e T R e e e = e e T T e i seccits
gl s et ey e R e A e T L i ||

] S s b TR s [ FH ] e B =+ ||| [ e

| H TR R & ﬂ_ u Sualgaant= gy pfE=— AN -:_==f‘-j T | e T e

:— _::__;- _-_ = :-—=—_£ E%: = =-_ ik S L use== ; | :;:: —aEEe HE==

= —sRe=gg : = - - p—r e ——— ==
= "-_j__ T r %E: = == 3 ) == 'E= == | = ff:;——- nIRE L] = ul N
—-5;: ==aREy - R d - ] T[T 5 e LRl HH Nga= _— ==
aE millf], -2anes T T ] = s T O e LT e HEEEE [ e e iy
| || LErerr T e B saac=ca e e e e e | e T e e
O | (s | e e 1L T E=-spgli-=1 TR LT E=—SNy se=-c-ipansiggganciiits -_;
L N=glp=s=gps 3 L -:E: K innglin = = ;f_ === :; ; f = T m= ='=_=_::
—— S eanaaEy ud e —— mes ===_AEE E==Cmal SESSSEES =
HH B pjaast P L e anaaal | e [ TR B --:-Q%; | P =T i
LITED o] H T P ] | LE T+ m=agnadli= .= N Eig=ss==31Ny = | | I |
pendissos-=snadinnnting=—: ssdlysitils iy T e 1 L e e e 1 -F:
A= [ =T =1 [3 HE '__;E;: R S | T LT+ iansa-1=20lsny= - 55-:;-:3%
TR e P = T T =g giina== ga=c=aNNz=S e T PO | | e O R LR T = po-chm=mugiy
= =2l e T [[E EE T ahzaEanadufualss = e T T [ [ e T SuANEES
EE==mal = . == = == B
[0 - _:__: s T =sr == a=call B - | — == 1 _.
EE ; I :.—... ‘;_—:z:: THJ== E=am===fus —F = B E | =2 g Hpu=s %_: ]
-——_ - - =TT LT = = "_'_-'—___ N =T O — HH __El s : 7 :_:=£§-‘ _:_ <_f ::=’__ = I g 1
i b= e e T T gun=l gueiiizagyy SR Nccgilacjgau=o-cank H LD = = | |5
I T Ee e e T Naiizprcijgci=sapi sanze Aegpjlipuaapz2t TEsTT L )
= = == - WE-C== — l_--___-;!:--- _=__ o = - mamEE=="Ty = L : i!.!ig_ - :E - :

L = E:::_i- ,g;_ = nnlip)= T = R LT u —: H malll - =.-:% :—_.;;: — ___:Eiéf‘

] = gac-ega=unyn==Ra=1s vl RRncE=-anz I == [ e =TT =R (A e H = | {2 L LT kil
el EanxE— %_;_ aiz==agicoas - LT TES anE = | (U e [T LA T L TR = R [T
Fre o e et e e e L TP P e e snpe = [
is=p==giNSzekas =T || e | fi;-_ﬂ. i e e =T e ST | ] T AT
O i ] =3 =E=; :. all _;:— = -—— 2= ==xii ] = ESNa= = e =
TR L = L e e PP e e L [ ST 2280=s SNNiEE=aggu-cpp=annis
e e e e e e T e e e e e
TS L T et e [ e e s=ilgngpillizaarantsgptsis scasgnfinnaliiossy — p=lsng HEAgEn==3 =

= s || eH e || Lt = e | T E Ef% = = 5 = [H CEF e =T

H 5 Sisanz TR e —-_-_--%_Z e T O T = =5slnj S




